50, will be treated as malpractice.

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8
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Time: 3 hrs. ~ Max. Marks:100
1 a (03 Marks)
b. Write a short note on Derivatives. > - (07 Marks)
C.
PV factors @ 10%
.0.909
0,826
%‘W@ 751
é > 0.683
Find out NPV /“ (10 Marks)
2 a Whatis IRR2.” (03 Marks)
b. Briefly, ehumerate on objectives of F 1nah01al Management. (07 Marks)
C. The capltal structure of Bombay uaders Ltd ason 31.3. 21 1s as follows
g Y ALY Rs in Crores
10 Marks)
3 a (03 Marks)
b.
Units sold 180000
Units sales price & “;‘Rs
Fixed.cost L% "Rs 240000 , ¢
Vanable cost per unit< ‘*§ (@ Re 1 -
ax rate & 50%  Com™
»10% of debt cap1tal of Rs 600000 v
« Calculate Operat;gg‘ leverage, Fmanc1a‘f leverage and Combined leverage. (07 Marks)
c. Discuss the fe},ctors affecting workmgwcapltal requirements. (10 Marks)
4 a. Whatis Internn d1v1dend‘7 MW% (03 Marks)

b. Prepare all estimate of workmg capital requirement from the following data of a trading
concern :
i) Projected annual sakes = 80,000 units.
ii) Selling price — Rs 8 per unit.
iii) Percentage ofprofit — 20%.
iv) Average ¢ credﬁ“ period allowed to debtors — 10 weeks.
v) Average ctedit period allowed by suppliers — 8 weeks.
vi) Averagesstock holding in terms of sales requirement — 10 weeks.
vii) Allow.20% for contingencies. (07 Marks)
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c. Discuss various factors affecting the Dividend Policy of an (;)tganisation. (10 Marks)

- (03 Marks)

b. An Industry is considering investing in a project w &cﬁ cé)ét Rs 12,00,000. The cash flows

a. What is an Operating Cycle? '

are Rs 2,40,000 , Rs 2,80,000 , Rs 3,60,000 , Rs 4,Q,0,000 and Rs 5,00,000. Calculate Pay
back period. oy, © (07 Marks)
c. Briefly enumerate various long term sources %jﬁ%aﬁital. (10 Marks)

a. What is Behavioral Finance? (03 Marks)
b. Calculate the future value of annuity ofRs"3000 deposited at the end of each year @ 6% for
a period of 5 years. Ty . (07 Marks)
c. Suppose a firm borrows ‘I0,00,00Q«% an interest rate of 15% and the loan is to be repaid in 5
equal installments payable at the end of each of next 5 years. Show the loan amortization

schedule for the above mformagjic@. (10 Marks)
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a. Sanvi Ltd had taken a free )hggld land for an annual rent of Rs 1200. Find out the present
value of free hold land which is enjoyable in perpetuity. if the interest rate is 8% p.a.
R L (03 Marks)
b. ABC Ltd issues 12% debentures of Rs 6,00,000" The tax rate applicable is 50%. Compute
cost of debt i) af par i) at10% premium® iii) at 10% discount. (07 Marks)
c. The following/is the information of a manufacturing Company obtained from the books.
Compute the oper“ﬁimg cycle in days and the-amount of working capital required.
Period covered 365 days.

i

i

Averagé i%gr‘f%d of credit allowed by, creditors 20 days. (10 Marks)
4 ;j y Particulars - Rs
- Average total debtors outstanding .~ 50,000
Raw materials consumption = 4,50,000 |
Total roduction cost 10,00,000: b

Total'cost of sales V9 12,00,000°]
Sales' O ® 20,00,000

[ Value of average stock maintained : B
_~| Raw materials stocks ~

.| Work in progress
Finished goods,

Compulsory- N

%&ww o £ y

Madan Lal Dhingra ismcic rmining the cash flow for a project involving replacement of an
old, machine by a new machine. The old machine bought a few years ago has a book value of
Rs-400000 and it can.be’ sold to realize (a-post tax salvage value of Rs 300000. It has a
‘temaining life of five.years after which its net salvage value is expected to be Rs 160000. It is
being depreciated a%m;f%lly at a rate of 25% under the written down value method. The working
capital requiredgfigﬁ’the old machir;éfﬁ‘;isﬁ*”‘Rs 400000. The new machine costs 16,00,000.it is
expected to fetchva net salvage of‘Rs 5,00,000. After 5 years when it will be no longer be
required. The depreciation rate applicable to it is 25% under WDV method. The net working
capital required for the new machine is Rs 5,00,000. Installation charges of the new machine is

i

Rs 100,000. The new maéﬁing is expected to bring a savings of Rs 3,00,000 annually in

. mw@%’%; & ¥ *
manufacturing costs (other then depreciation). The tax rate applicable to the firm is 40%.

As a Financial Advisor’of the company, you should suggest whether the old machine be

replaced by the nevs@:%}ﬁgﬂchine. (Assuming cost of capital to be 10%). (20 Marks)
(o> | Year 1 2 3 4 5
PVIF | 0.909 | 0.826 | 0.751 | 0.683 | 0.621
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